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(1) cos150° DIEZ KD L.
2) FXO=#A ABC 28T, cosh, sind DfE%RK® k.

) XD = DEF I8 T, cosH, sin 6 DfEiz K k. D
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=43 ABC 124510 C, AB=15, BC=13, cosB=%'C“&>6. A

(1) sinB#%K® k.
(2) = ABC OmifgES #: R k.
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% ABCD (23T, AB=30, ZADC=/BCD=90° T %. A D
i CD kI ZAHB=90° 725 i H 25 &,

a=/ABH, B=2CBH
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sino,=—, sinff=—
6 5

Lot A
(1) cosa, cosP Dz R K. B B C
2) ZAHD D K& &%, o, p DO bR O % FNTHRYE.

(3) BC,CH,HD,DA O R X%k k.



fE RE 2-4

FHEIZ1 225 8 DHN 1 DT OENPNIZIENEEROY £ an % 4FiES & &, UTOMEL
KL L, oV sanEiRilE, FOARHINIEMRETHLILDOLETS.
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A,B,C,D,E,EG H, 1D 9 AZERD LS 72 NED 3 Ko 2 7 IEORKREE KD L.
M 4N, 3A, 2A

@2 5N, 2N, 2A
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15 1 2-6
=48 A-BCD 125\ C,

AB=4, AC=AD=BC=BD=5,CD=6
TobH. A-BCD OIEFEV ko L.



